Thanksgiving Pie

On Thanksgiving Day, four families each ate a part of an equal size pie. Each pie was split into different
pieces.

The Ray’s strawberry pie was cut into 4 equal pieces. They ate 3 pieces.
The Love’s chocolate pie was cut into 8 equal pieces. They ate 4 pieces.
The Wolf’s pumpkin pie was cut into 3 equal pieces. They ate 1 piece.
The Cosby’s cherry pie was cut into 6 equal pieces. They ate 3 pieces.

A) Use a number line and include diagrams to illustrate:
1. Which family ate the most pie?
2. Which family ate the least amount of pie?

B) Who ate the same amount of pie? How do you know?

C) How much more pie would the Love family need to eat in order to have eaten the same amount of
pie as the Ray family?



